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STRAND 1: RESOURCE ALLOCATION VIA THE MARKET SYSTEM
Answer ALL questions in this strand.
As a guide, spend no more than 76 minutes on this strand.
1.1: Demonstrate an Understanding of Economic Problems Associated with

Scarcity and Allocation

Graph 1. Production Possibilities Model
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Refer to Graph 1 above to answer questions 1.1a-1.1d.

Assessor’s use only

1.1a

Name a point from the above production possibility curve that illustrates
productive efficiency.

Unistructural

1

0

NR

1.1b

The production possibility curve above is an example of an economic
model. State the purpose of economic models.

Unistructural

1

0

NR




Assessor’s use only

1.1c

List two assumptions of the production possibility curve.

Multistructural
2
1
0
NR

1.1d

Describe under-utilisation of resources with reference to the production
possibility curve in Graph 1.

Multistructural
2
1
0
NR




4

1.2: Demonstrate an Understanding of the Concept of Marginal Utility and the
Individual Demand Curve
Table 1. David’s Utility Schedule for Guavas
Quantity Purchased Total Utility Marginal Utility
1 10 10
2 18 8
3 24 6
4 28 4
5 26 2
6 26 0
Use Table 1 to answer questions 1.2a-1.2c.
Assessor’s use only
1.2a | Use the schedule in Table 1 to draw David’s demand curve for guavas.

Give your graph an appropriate title.

Graph 2.
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Multistructural
2
1
0
NR




Assessor’s use only

1.2b | Define the concept of marginal utility.
Unistructural
1
0
NR
1.2c | Explain the difference between a movement along the demand curve and
a shift of the entire demand curve.
Relational
3
2
1
0
NR




6

1.3: Demonstrate an Understanding of the Concept of Supply and Elasticity
Table 2.
Output Costs
(Units) (%)
MC AC AVC
1 15 25 20
2 10 20 15
3 15 15 13
4 20 17 15
5 25 20 18
6 30 25 20
Graph 3. Title:
N
Price ($)
0 >
Output
Assessor’s use only
1.3a | On Graph 3, use the relevant cost data from Table 2 to create a Relational
supply curve for a perfectly competitive firm. Label and give your
graph an appropriate title. 3
2
1
0
NR




Assessor’s use only

1.3b

Define marginal cost.

Unistructural
1
0

NR

Use Graph 4 to answer questions 1.3c-1.3e.

Graph 4. Impact of Subsidy on Milk Production
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1.3c

Calculate the subsidy per unit.

Multistructural
2
1
0
NR




Assessor’s use only

1.3d | Describe the incidence of the subsidy on producers.

Multistructural
2
1
0
NR

1.3e | A 19" century economist discovered that price elasticity of supply
depends on the time period that it takes to produce a product.

Discuss the impact of elasticity of supply by examining why the supply is
more responsive in the long-run than in the short-run. Use examples to
support your answer.




Assessor’s use only

1.3e
(cont.)

Extended
Abstract

OR[N |[W|P+




10

1.4: Demonstrate an Understanding of the Role of Firms in a Market Economy
Refer to Graph 5 to answer questions 1.4a-1.4c.
Graph 5. Revenue and Cost Curves of a Perfectly Competitive
Firm
Revenue
/ Costs ($)
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AR =MR
Output
Assessor’s use only
1.4a | On Graph 5 above, illustrate how the firm makes supernormal profit.
Shade the area of profit. Multistructural
2
1
0
NR
1.4b | Define supernormal profit.

Unistructural
1
0

NR




11

Assessor’s use only

1.4c

Explain the relationship between average revenue, marginal revenue and
total revenue under perfect competition.

Relational

O || N
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STRAND 2: RESOURCE ALLOCATION VIA THE PUBLIC SECTOR

2.1:

Answer ALL questions in this strand.
As a guide, spend no more than 52 minutes on this strand.

Demonstrate an Understanding of Externalities and Income Inequality

Use the resource below to answer questions 2.1a(i)-2.1a(iii).

Weather, Global Warming
and Climate Change

‘Climate change’ and ‘global warming’ are often used interchangeably but
have distinct meanings. Similarly, the terms ‘weather’ and ‘climate’ are

sometimes confused, though they refer to events with broadly different
spatial and timescales.

Source: https://climate.nasa.gov/resources/global-warming-vs-climate-change/

Assessor’s use only

2.1a
0]

Define climate change.

Unistructural

1

0

NR



https://climate.nasa.gov/resources/global-warming-vs-climate-change/

13

Assessor’s use only

2.1a | Describe one factor that can cause climate change.
(ii)
Multistructural
2
1
0
NR
2.1a | Explain how negative externalities of production or consumption can
(iii) | result in climate change.
Relational
3
2
1
0
NR




14

Use Graph 6 to answer questions 2.1b(i)-2.1d.

Graph 6.
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Benefits

Negative Externalities of Production

MSC
MC

MB

Output

Assessor’s use only

2.1b | On Graph 6 above, identify the social equilibrium output. Label it Qs. Unistructural
0)
1
0
NR
2('”1)b On Graph 6 above, identify the private equilibrium output. Label it Qp. Unistructural
1
0
NR
2.1c | Goods with externalities are classified as mixed goods.

Describe this feature of mixed goods.

Multistructural

2

1

0

NR




15

Assessor’s use only

2.1d

Explain how regulations can be used to internalise negative externalities
of production.

Relational

NR




16

2.2: Explain Inequality of Wealth and Income using the Lorenz Curve
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Income inequality was severe in the U.S.

There’s still a wide gap between the haves and the have-nots in the United States. In 2018,
the lowest-earning fifth of the population earned only about 3 percent of the nation’s total
income, while the highest-earning fifth raked in about 52 percent.

Income disparities between racial groups have also endured, according to U.S. Census
Bureau data. In 2018, the average income was about $87,200 for Asian American
households, $70,600 for white households, $51,500 for Hispanic households and $41,400
for black households. Poverty rates follow a similar trend: about 10.1 percent of Asian, 8
percent of white, 17.6 percent of Hispanic and 20.8 percent of black households fell below
the poverty line, in which a household’s income isn’t enough to meet the family’s basic
needs.

Source: https://www.sciencenews.org/article

Use the information above to answer questions 2.2a-2.2d.

Assessor’s use only

2.2a | Define equality with reference to income.

Unistructural

1

0

NR

2.2b | The information above shows many examples of income inequality.

What could be one good example of equality?

Unistructural

1

0

NR



https://www.sciencenews.org/article
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Assessor’s use only

2.2c | List two ways the United States can attempt to achieve greater equality.
Multistructural
2
1
0
NR
2.2d | With reference to the information in the article on page 16, present
inequality of wealth and income distribution using a Lorenz curve. Label
your graph appropriately.
Graph 7. Lorenz Curve
Relational
3
2
1
0
NR




18

STRAND 3: AGGREGATE ECONOMIC ACTIVITY AND POLICY

Answer ALL questions in this strand.
As a guide, spend no more than 52 minutes on this strand.

3.1: Demonstrate an Understanding of Domestic and External Economic Activities
Graph 8. The Foreign Exchange Market for US Dollars in terms of NZ
Dollars
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Use Graph 8 above to answer questions 3.1a(i)-3.1a(iii).
Assessor’s use only
3.1a | Define exchange rate.
(i)
Unistructural
1
0
NR
3.1a | State what has happened to the exchange rate in Graph 8.
(ii)

Unistructural

1

0

NR
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Assessor’s use only

3.1a
(iii)

Discuss the impacts of exchange rate changes on international trade of
goods and services using examples.

Extended
Abstract

4
3
2

1

0

NR
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Table 3.
National Income Statistics for an Imaginary Country, Pasifika.

$M
Export of goods and services 500
Final consumption: government 350
Final consumption: private 550
Gross fixed capital formation 400
Taxes on production and imports 300
Imports of goods and services 550
Changes in inventories 100

Use Table 3 to answer questions 3.1b(i)-3.1b(iii).

Assessor’s use only

3.1b | Use the expenditure approach to calculate the gross domestic product
(@ (GDP). Use the relevant data only.

Multistructural

2

1

0

NR

3.1b | Define real GDP.
(i) Unistructural

1

0

NR

3.1b | Identify the components of aggregate demand from the data given in
(iii) | Table 3 above.

Unistructural

1

0

NR
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3.2: Demonstrate an Understanding of the Impact of Fiscal Policy
A South Pacific economy, Economy Z, had experienced economic
depression over the last decade.
Graph 9. Aggregate Demand and Aggregate Supply Curves for Economy Z
. Y¢
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Use Graph 9 to answer questions 3.2a-3.2f.
Assessor’s use only
3.2a | Describe the aggregate demand and aggregate supply model.
Multistructural
2
1
0
NR
3.2b | Use the aggregate demand and aggregate supply curves on Graph 9 to

identify the equilibrium level of income, output and employment. Label it

Ye.

Unistructural

1

0

NR
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Assessor’s use only

3.2c | Graph 9 above illustrates a recessionary gap.
Define a recessionary gap. Onitrocearal
1
0
NR
3.2d | List two factors that can cause a recessionary gap.
Multistructural
2
1
0
NR
3.2e | Name one policy that can be used to eliminate a recessionary gap. Unistructural
1
0
NR
3.2f | Explain how the policy you hamed in question 3.2e above helps to close
a recessionary gap.
Relational
3
2
1
0
NR

THE END




